ARNEHAFIR T

JOTA BEARING CO., LTD.

BEARINGS




ﬁgxxmﬂﬁmza
et/ JOTA BEARING CO., LTD.

'/,
CFi¥

Lo

L d d

o

[ Tr————
=—DB,
CF
B U mm *5HUUE » RE! KR UURSEY
B FHE | BE | AR
o d D S B | Bi| L di | D2 I I1 r Co © E
BUgR kgf kgf
g g rpm

CF3 3 10 | M 3x0.5 7 |8 17 | - - 5 - 0.3 72 130 | 47000
CF4 4 12 | M4x0.7 8 |9 20 | - - 6 - 0.5 120 190 | 37000
CF5 5 13 | M5x0.8 9 |10 23| 31| - 75 | - 0.5 180 280 | 29000
CF6 6 16 | M 6x1 1 |12 28 | 4 - 9 - 0.5 240 330 | 25000
CF8 8 19 [M8x1.25| 11 |12 32| 4 - 1 | - 0.5 300 390 | 20000
CF10 10 22 |M10x1.25| 12 |13 36 | 4 = 13 | - 1 370 430 | 17000
CF10-1 | 10 26 |M10x1.25| 12 |13 36 | 4 - 13 | - 1 370 430 | 17000

CF12 12 30 [M12x1.5 14 | 15 40 | 6 3 14 6 1.5 620 710 | 14000
CF12-1 12 32 [M12x1.5 14 | 15 40 | 6 3 14 6 1.5 620 710 | 14000
CF16 16 35 [M16x1.5 18 [ 195 52 | 6 3 18 8 1.5 1090 1040 | 10000
CF18 18 40 |M18x1.5 20 [215] 58 | 6 3 20 10 1.5 1690 1410 8500
CF20 20 52 [ M20x1.5 24 [255| 66 | 8 4 22 12 1.5 2350 1940 7000
CF20-1 20 47 | M20x1.5 24 | 265 | 66 | 8 4 22 12 1.5 2350 1940 7000
CF24 24 62 | M24x1.5 29 | 305| 80 | 8 4 25 12 1.5 3050 2600 6500
CF24-1 24 72 [ M24x1.5 29 | 305| 80 | 8 4 25 12 1.5 3050 2600 6500

CF30 30 80 |M30x1.5 | 35 | 37 100 | 8 4 32 15 | 2 5350 3470 5000

CF30-1 30 85 | M30x1.5 35 | 37 100 | 8 4 32 15 2 5350 3470 5000

CF30-2 | 30 90 |[M30x1.5 [ 35 | 37 100 | 8 4 32 15 | 2 5350 3470 5000

133



134

<oT3

@A)

VA KEHAFR T

%2/ JOTA BEARING CO., LTD.
CFHF .
1
— 1
D == d
}
= \s_
r
CFH
Bk EIEE FE<FE(mm)
e =
Bl & 5t &R PR 51 86 . 5 o B
mm R uus R uus
6 CFH®6 CFH 6UU CFHG6R CFH 6UUR 6 16 M 6x1 11
8 CFH 8 CFH 8UU CFH 8R CFH 8UUR 8 19 [ M 8x1.25 11
CFH10 CFH 10UU CFH10R |[CFH10UUR 10 22 | M10x1.25| 12
10
CFH10-1 | CFH10-1UU | CFH10-1R [CFH 10-1UUR 10 26 M10x1.25| 12
CFH 12 CFH 12UU CFH12R |[CFH 12UUR 12 30 [ M12x1.5 14
12
CFH12-1 | CFH12-1UU | CFH 12-1R |CFH 12-1UUR 12 32 M12x1.5 14
16 CFH 16 CFH 16UU CFH16R |CFH 16UUR 16 35 M16x1.5 18
18 CFH 18 CFH 18UU CFH18R |CFH 18UUR 18 40 M18x1.5 20
CFH 20 CFH 20UU CFH20R |CFH 20UUR 20 52 M20x1.5 24
20
CFH20-1 | CFH20-1UU | CFH 20-1R |CFH 20-1UUR| 20 47 | M20x1.5 24
CFH 24 CFH 24UU CFH24R |CFH 24UUR 24 62 | M24x1.5 29
24
CFH24-1 | CFH24-1UU | CFH 24-1R |CFH 24-1UUR| 24 72 | M24x1.5 29
CFH 30 CFH 30UU CFH30R |[CFH 30UUR 30 80 | M30x1.5 35
30 CFH 30-1 | CFH30-1UU | CFH 30-1R [CFH 30-1UUR| 30 85 | M30x1.5 35
CFH30-2 | CFH30-2UU | CFH 30-2R |CFH 30-2UUR| 30 90 | M30x1.5 35




Ay & X El K H R )
et/ JOTA BEARING CO., LTD.

[T
““_‘P‘

(
(]
L

R500 (CFH18LATF) R500 (CFH18L}{T)/

R1000 (CFH20LI E) R1000 (CFH202/ E)
CFH...UU CFH...R CFH...UUR
FE<Fi%(mm) 5= HEATEHEAE

SRR | MREE

B R |, | WOE | grf © co QTE?E rr;an

' L e kgf kgf 9
310

12 28 4 9 | 025 05 18.5 330 240 % 25000
370

12 32 4 11 | 025 | 05 28.5 390 300 120 20000
430

13 36 4 13 | 03 | 1 45 430 370 140 17000
500

13 36 4 13 | 03 | 1 60 430 370 180 17000
640

15 40 6 14 0.4 1.5 95 710 620 210 14000
680

15 40 6 14 | 04 | 15 | 105 710 620 240 14000
1020

19.5 | 52 6 18 | 05 | 15 | 170 1040 1090 270 10000
1320

215 | 58 6 20 | 06 | 15 | 250 1410 1690 320 8500
2110

255 | 66 8 22 | 07 | 15 | 460 1940 2350 700 7000
1910

255 | 66 8 22 | 07 | 15 | 385 1940 2350 510 7000
3120

305 | 80 8 25 | 08 | 15 | 815 2600 3050 900 6500
3620

305 | 80 8 25 | 08 | 1.5 | 1140 2600 3050 110 6500
4800

37 | 100 8 32 | 10 | 2 1870 3470 5350 1280 5000
5100

37 | 100 8 32 | 10 | 2 2030 3470 5350 1300 5000
5400

37 | 100 8 32 | 10 | 2 2220 3470 5350 1490 5000

135



Mﬁelv}’ﬁ?" FR=

htt-ps //|skbear|ng com‘f

TEL +886 3-312/5:0202
E-mail : iskbearing@joeta-bearning.com:tw;
Address : NO.65,Ln. 1434, ChunRifRDx;
33051 Taoyuan, Taiwan, R.O:E




	�¶�±  127
	�¶�±  128
	�¶�±  129
	�¶�±  130
	�¶�±  131
	�¶�±  132
	�¶�±  133
	�¶�±  134
	�¶�±  135
	空白頁面
	空白頁面
	空白頁面

